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Update on Packages.

• Update the thickness and material parameters of Cathodes, 
Anodes and GemFoils based on new design. [modified from 
CgemGeomSvc-00-00-30, also add the changes in 00-00-31]

• Update the construction description of CGEM detector based on 
new design. [modified from CgemSim-01-00-31, also add the 
changes in 01-00-32]

CGEMBOSS 6.6.5.f



Update results of X [without effdesity]

✓ CGEMBOSS 6.6.5.f
✓ BesSim-00-04-16

✓ [update Stepping, Event, Run]

−0.8 < 𝑐𝑜𝑠𝜃 < 0.8

𝑐𝑜𝑠𝜃 < −0.8 𝑐𝑜𝑠𝜃 > 0.8

Barrel

Endcap

BesSim.Cgem=1;
BesSim.Mdc=1;



Update results of X [without effdesity]

✓ CGEMBOSS 6.6.5.f
✓ BesSim-00-04-16

✓ [update Stepping, Event, Run]

−0.8 < 𝑐𝑜𝑠𝜃 < 0.8

𝑐𝑜𝑠𝜃 < −0.8 𝑐𝑜𝑠𝜃 > 0.8

Barrel

Endcap

CGEM

X=0.0189805



Update results of X [without effdesity]

✓ CGEMBOSS 6.6.5.f
✓ BesSim-00-04-16

✓ [update Stepping, Event, Run]

−0.8 < 𝑐𝑜𝑠𝜃 < 0.8

𝑐𝑜𝑠𝜃 < −0.8 𝑐𝑜𝑠𝜃 > 0.8

Barrel

Endcap

ODC



Update results of X [without effdesity]

BesSim.Cgem=1;
BesSim.Mdc=1;



Update results of X [without effdesity]
CGEM



Update results of X [without effdesity]
ODC



Update results of X [effdesity]

✓ CGEMBOSS 6.6.5.f
✓ BesSim-00-04-16

✓ [update Stepping, Event, Run]

−0.8 < 𝑐𝑜𝑠𝜃 < 0.8

𝑐𝑜𝑠𝜃 < −0.8 𝑐𝑜𝑠𝜃 > 0.8

Barrel

Endcap

BesSim.Cgem=1;
BesSim.Mdc=1;



Update results of X [effdesity]

✓ CGEMBOSS 6.6.5.f
✓ BesSim-00-04-16

✓ [update Stepping, Event, Run]

−0.8 < 𝑐𝑜𝑠𝜃 < 0.8

𝑐𝑜𝑠𝜃 < −0.8 𝑐𝑜𝑠𝜃 > 0.8

Barrel

Endcap

CGEM

X=0.0157706



Update results of X [effdesity]

✓ CGEMBOSS 6.6.5.f
✓ BesSim-00-04-16

✓ [update Stepping, Event, Run]

−0.8 < 𝑐𝑜𝑠𝜃 < 0.8

𝑐𝑜𝑠𝜃 < −0.8 𝑐𝑜𝑠𝜃 > 0.8

Barrel

Endcap

ODC



Update results of X [effdesity]

BesSim.Cgem=1;
BesSim.Mdc=1;



Update results of X [effdesity]
CGEM



Update results of X [effdesity]
ODC



Backup

materials thickness radius [mm] fixed

anode3 T_Cu4 0.0030 4.1080 179.1680 ta_cu4[2]

0.06 T_kapton4 0.0500 ta_kapton4[2]

4.108 T_Cu3 0.0050 ta_cu3[2]

T_epoxy5 0.0150 ta_epoxy5[2]

T_carbonf2 0.0700 ta_carbonf2[2]

T_epoxy4 0.0150 ta_epoxy4[2]

T_kapton3 0.0000 ta_kapton3[2]

T_honeycomb 3.8000 ta_honeycomb[2]

T_epoxy3 0.0150 ta_epoxy3[2]

T_carbonf1 0.0700 ta_carbonf1[2]

T_rohacell1 0.0000 ta_rohacell1[2]

T_epoxy2 0.0150 ta_epoxy2[2]

T_kapton2 0.0250 ta_kapton2[2]

T_epoxy1 0.0250 ta_epoxy1[2]

T_Cu2 0.0050 0.0600 175.0600 ta_cu2[2]

T_kapton1 0.0500 ta_kapton1[2]

T_Cu1 0.0050 ta_cu1[2]

gap_I 1.9400 10.9470 175.0000 tg_gi[2]

gemfoil3 T_Cu2 0.0050 tg_cu2[2]

0.056 T_kapton 0.0500 tg_kapton[2]

T_Cu1 0.0050 tg_cu1[2]

gap2 1.9400 tg_gt2[2]

gemfoil2 T_Cu2 0.0050 tg_cu2[2]

0.056 T_kapton 0.0500 tg_kapton[2]

T_Cu1 0.0050 tg_cu1[2]

gap1 1.9400 tg_gt1[2]

gemfoil1 T_Cu2 0.0050 tg_cu2[2]

0.056 T_kapton 0.0500 tg_kapton[2]

T_Cu1 0.0050 tg_cu1[2]

GAP_D 4.9470 gap_d[2]

cathode3 T_Cu2 0.0030 0.0530 164.0530 tc_cu2[2]

T_kapton3 0.0000 tc_kapton3[2]

T_epoxy4 0.0000 tc_epoxy4[2]

T_rohacell2 0.0000 tc_rohacell2[2]

T_epoxy3 0.0000 tc_epoxy3[2]

T_kapton2 0.0500 164.0000 tc_kapton2[2]

T_epoxy2 0.0150 1.9000 tc_epoxy2[2]

T_rohacell1 0.0000 tc_rohacell1[2]

T_honeycomb 1.8000 tc_honeycomb[2]

T_epoxy1 0.0150 tc_epoxy1[2]

T_carbonf 0.0700 tc_carbonf[2]

T_kapton1 0.0000 tc_kapton1[2]

T_Cu1 0.0000 162.1000 tc_cu1[2]

anode2 T_Cu4 0.0000 4.1775 136.7375 ta_cu4[1]

0.06 T_kapton4 0.0500 ta_kapton4[1]

4.1775 T_Cu3 0.0050 ta_cu3[1]

T_epoxy5 0.0150 ta_epoxy5[1]

T_carbonf2 0.0000 ta_carbonf2[1]

T_rohacell2 2.0000 ta_rohacell2[1]

T_epoxy4 0.0150 ta_epoxy4[1]

T_kapton3 0.0125 ta_kapton3[1]

T_honeycomb 0.0000 ta_honeycomb[1]

T_epoxy3 0.0150 ta_epoxy3[1]

T_carbonf1 0.0000 ta_carbonf1[1]

T_rohacell1 2.0000 ta_rohacell1[1]

T_epoxy2 0.0150 ta_epoxy2[1]

T_kapton2 0.0250 ta_kapton2[1]

T_epoxy1 0.0250 ta_epoxy1[1]

T_Cu2 0.0050 0.0600 132.5600 ta_cu2[1]

T_kapton1 0.0500 ta_kapton1[1]

T_Cu1 0.0050 ta_cu1[1]

gap_I 1.9440 10.9450 132.5000 tg_gi[1]

gemfoil3 T_Cu2 0.0030 tg_cu2[1]

0.056 T_kapton 0.0500 tg_kapton[1]

T_Cu1 0.0030 tg_cu1[1]

gap2 1.9440 tg_gt2[1]

gemfoil2 T_Cu2 0.0030 tg_cu2[1]

0.056 T_kapton 0.0500 tg_kapton[1]

T_Cu1 0.0030 tg_cu1[1]

gap1 1.9440 tg_gt1[1]

gemfoil1 T_Cu2 0.0030 tg_cu2[1]

0.056 T_kapton 0.0500 tg_kapton[1]

T_Cu1 0.0030 tg_cu1[1]

GAP_D 4.9450 gap_d[1]

cathode2 T_Cu2 0.0050 0.0550 121.5550 tc_cu2[1]

T_kapton3 0.0500 121.5000 tc_kapton3[1]

T_epoxy4 0.0150 2.0850 tc_epoxy4[1]

T_rohacell2 1.0000 tc_rohacell2[1]

T_epoxy3 0.0150 tc_epoxy3[1]

T_kapton2 0.0125 tc_kapton2[1]

T_epoxy2 0.0150 tc_epoxy2[1]

T_rohcell1 1.0000 tc_rohacell1[1]

T_honeycomb 0.0000 tc_honeycomb[1]

T_epoxy1 0.0150 tc_epoxy1[1]

T_carbonf 0.0000 tc_carbonf[1]

T_kapton1 0.0125 tc_kapton1[1]

T_Cu1 0.0000 119.4150 tc_cu1[1]

anode1 T_Cu4 0.0000 4.1050 94.1650 ta_cu4[0]

0.06 T_kapton4 0.0500 ta_kapton4[0]

4.105 T_Cu3 0.0050 ta_cu3[0]

T_epoxy5 0.0150 ta_epoxy5[0]

T_carbonf2 0.0700 ta_carbonf2[0]

T_rohacell2 0.0000 ta_rohacell2[0]

T_epoxy4 0.0150 ta_epoxy4[0]

T_kapton3 0.0000 ta_kapton3[0]

T_honeycomb 3.8000 ta_honeycomb[8]

T_epoxy3 0.0150 ta_epoxy3[0]

T_carbonf1 0.0700 ta_carbonf1[0]

T_rohacell1 0.0000 ta_rohacell1[0]

T_epoxy2 0.0150 ta_epoxy2[0]

T_kapton2 0.0250 ta_kapton2[0]

T_epoxy1 0.0250 ta_epoxy1[0]

T_Cu2 0.0050 0.0600 90.0600 ta_cu2[0]

T_kapton1 0.0500 ta_kapton1[0]

T_Cu1 0.0050 ta_cu1[0]

gap_I 1.9400 10.9470 90.0000 tg_gi[0]

gemfoil3 T_Cu2 0.0050 tg_cu2[0]

0.056 T_kapton 0.0500 tg_kapton[0]

T_Cu1 0.0050 tg_cu1[0]

gap2 1.9400 tg_gt2[0]

gemfoil2 T_Cu2 0.0050 tg_cu2[0]

0.056 T_kapton 0.0500 tg_kapton[0]

T_Cu1 0.0050 tg_cu1[0]

gap1 1.9400 tg_gt1[0]

gemfoil1 T_Cu2 0.0050 tg_cu2[0]

0.056 T_kapton 0.0500 tg_kapton[0]

T_Cu1 0.0050 tg_cu1[0]

GAP_D 4.9470 gap_d[0]

cathode1 T_Cu2 0.0030 0.0530 79.0530 tc_cu2[0]

T_kapton3 0.0000 tc_katpn3[0]

T_epoxy4 0.0000 tc_epoxy4[0]

T_rohacell2 0.0000 tc_rohacell2[0]

T_epoxy3 0.0000 tc_epoxy3[0]

T_kapton2 0.0500 79.0000 tc_kapton2[0]

T_epoxy2 0.0150 1.8830 tc_epoxy2[0]

T_rohacell1 0.0000 tc_rohacell1[0]

T_honeycomb 1.8000 tc_honeycomb[0]

T_epoxy1 0.0150 tc_epoxy1[0]

T_carbonf 0.0000 tc_carbonf[0]

T_kapton1 0.0500 tc_kapton1[0]

T_Cu1 0.0030 77.1170 tc_cu1[0]

0 plane 0 0.0000 0.0000 


